Tx: Set DUT pre-op, alloc Ip (IDLE)

Tx: Write HB time zero, alloc tim (ID

PDO event timing 100ms

PDOs 1 to 4 are tested for the event
timer accuracy. 10% accuracy required
to pass, greater 5% increments warning
counter. Timer is set to 100ms, CAN ID
to 180h, 100 TPDOs are measured.
TPDOs that do not allow disabling of

Rx: Warn on any EMCY (WARN)

their CAN ID [180xh,01] are skipped. Rx: Fail on any SDO abort (FAIL)

Variable usage
1: tim - main timer to monitor timing Rx: Bootup received (FAIL)
2: cnt - counting PDO receive cycles
3: Ip - Looping through TPDO 1 to 4

LE)

Rx: Write confirm, alloc cnt (PASS)

ER: su

Exit when Ip reaches 5 (IDLE)

(0]

» . . - P . -
per_sta ER: super_sta
Tx: NMT: Set DUT pre-op, inc Ip (IDLE)

on Ip equal 1 cIr cnt (IDLE)

D1 para
R: super_sta

Skip test (IDLE)

Tx: NMT: DUT operational (IDLE)

on Ip equal 2 clIr cnt (IDLE)

02 para
R: super_sta

Skip test (IDLE)

Tx: NMT: DUT operational (IDLE)

on Ip equal 3 clr cnt (IDLE)

DO3 para
R: super_sta

Skip test (IDLE)

)04 para
R: super_sta

Skip test (IDLE)

Tx: NMT: DUT operational (IDLE)

n Ip equal 4 clr cnt (IDLE)

Tx: NMT: DUT operational (IDLE)




Confirm TPDO Timing for 100 TPDOs

Rx: Receive first PDO, clr tim (PASS)

Increment cnt (PASS)

@
tim reaches 90ms (IDLE)

windo
ent op

tim reaches 95ms (IDLE)

%

tim reaches 105ms (IDLE)

%

tim reaches 110ms (IDLE)

e

Rx: PDO too early (FAIL)

cnt reaches 100 (PASS)

Rx: PDO early, clr tim (WARN)

Rx: PDO OK, clr tim (PASS)

Rx: PDO late, cIr tim (WARN)

Rx: PDO too late, clr tim (FAIL)




Set TPDO1 parameters

Tx: Write PDO1 disable (IDLE)

Rx: Write confirm (PASS)
Rx: TPDO1 not implemented, inc var3 (WARN)

Tx: Write inhibit time O (IDLE)

Rx: Write confirm (PASS)

Tx: Write event time 100 (IDLE)

Rx: Write confirm (PASS)

Tx: PDO1 enable ID 180h (IDLE)

Rx: Write confirm (PASS)




Set TPDO2 parameters

_‘

Tx: Write PDO2 disable (IDLE)

Rx: Write confirm (PASS)
Rx: TPDO2 not implemented, inc var3 (WARN)

@.

Tx: Write inhibit time O (IDLE)

O

Rx: Write confirm (PASS)

_@.

Tx: Write event time 100 (IDLE)

O

Rx: Write confirm (PASS)

O

Tx: PDO1 enable ID 180h (IDLE)

Rx: Write confirm (PASS)




Set TPDO3 parameters

Tx: Write PDO3 disable (IDLE)

Rx: Write confirm (PASS)
Rx: TPDO3 not implemented, inc var3 (WARN)

Tx: Write inhibit time O (IDLE)

Rx: Write confirm (PASS)

Tx: Write event time 100 (IDLE)

Rx: Write confirm (PASS)

Tx: PDO3 enable ID 180h (IDLE)

Rx: Write confirm (PASS)




Set TPDO4 parameters

_‘

Tx: Write PDO4 disable (IDLE)

Rx: Write confirm (PASS)
Rx: TPDO1 not implemented (WARN)

_@.

Tx: Write inhibit time O (IDLE)

O

Rx: Write confirm (PASS)

@.

Tx: Write event time 100 (IDLE)

O

Rx: Write confirm (PASS)

@

Tx: PDO1 enable ID 180h (IDLE)

Rx: Write confirm (PASS)




. Disable TPDO 1to 4

Tx: Disable TPDO1 (IDLE)

Rx: SDO Abort (IDLE)
Rx: TPDO4 disabled (IDLE)
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